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4 Digit Minus 4 Digit Name:
Use subtraction to solve the following problems. Answers
1.
1) 9,685 2) 6,703 3) 5,134 4) 5,167
-5,231 -1,610 -2,592 -_1,988 2
3.
4.
5 9,238 6) 8,412 7 4,228 8 3,943 >
-7,012 -4,918 -2,209 -_2,886 6
7.
8.
9 5,032 100 9,079 11) 3,637 12) 7,755 9.
-1,822 -7,391 -2,313 -6,224
- - - - 10.
11.
12.
13) 6,349 14 5 229 15 9,518 16) 1,965 1
-4,033 -2,320 -8,376 -_1,437
14.
15.
16.
17) 8,050 18) 3,160 19) 9,535 20) 7,125 .
- 2,902 -2,738 - 4,385 -_4,005 '
18.
19.
20.
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j; 4 Digit Minus 4 Digit Name: Answer Key

Use subtraction to solve the following problems. Answers
1 4.454
1) 9,685 2 6,703 3 5,134 4 5,167
-5,231 -1,610 - 2,592 -1,988 ” 5,093
4.454 5,093 2,542 3,179
3 2,542
4 3,179
5 9,238 6) 8,412 7 4,228 8 3,943 > 2,226
-7,012 - 4,918 - 2,209 - 2,886 . 3.494
2,226 3,494 2.019 1,057
7 2,019
8 1,057
9 5,032 100 9.079 11) 3.637 12 7.755 o. 3,210
-1,822 -7.,391 -2.313 - 6,224
V" V= V== 7 1688
3.210 1,688 1,324 1,531 10. ’
11 1,324
» 1531
13) 6,349 14 5,229 15 9,518 16) 1,965 3 2316
- 4,033 - 2,320 - 8,376 - 1,437
2.316 2.909 1,142 528 w2909
= 1,142
16, 528
17) 8,050 18) 3,160 19 9,535 200 7,125 o 5148
-2.902 -2.,738 - 4,385 -4,005
5,148 422 5,150 3,120 18 422
9. 5,150
0 3,120
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4 Digit Minus 4 Digit Name:
Use subtraction to solve the following problems. Answers
4,454 1,688 2,019 1,324 1,142
5,093 2,909 1,531 2,316 2,226 L
1,057 3,210 2,542 3,494 3,179 9
3.
1) 9,685 2 6,703 3 5,134
-5,231 -1,610 - 2,592 4,
5.
6.
4 5,167 5 9,238 6) 8,412 7
-1,988 -7,012 -4,918
8.
9.
10.
7 4,228 8 3,943 9 5,032
- 2,209 - 2,886 -1,822 11.
12.
13.
10) 9,079 1) 3,637 12) 7,755 u
-7,391 - 2,313 - 6,224 '
15.
13) 6,349 14) 5,229 15 9,518
-4,033 -2,320 -8,376
M odified 1-10 [93]87]80[ 73] 67] 60|53 47| 40]33]
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